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2% n=20 X=2.1 s=1.3 $$=32.11
6% n=20 X=4.3 s=15 $5=42.75
10 % n=20 X=6.9 s=18 $S=61.56
$S=S2x (n-1)  88.2369.89522 -1179.26

kIR SS df MS

4b 18 [a] 230.94 2 115.47 F=48.31

4hIR A 136.42 57 2.39

B 367.36 59
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$S=23 [>T=54 $5=24.88[> T=71 $5=12.70[> T=28
SS jal= (2916+5041+784) /12-650.25=72.47

B SS df MS

4h3E 18] 7247 2 36.24 F=19.80

AhTE A 60.58 33 1.83

B 133.32 35

19.80>3.30, =HEEEEER

EEKY: HSD=0.399=0.39x2.89=1.13

B 5E 0 592-450=142>113, ZFE=Z
FTHEE = 592-233=359>1.13, ZEREZ
TR E® =4 450-233=217>113, ZREZ




